Math 232 Calculus 2 Spring 18 Midterm 2b

Name: S ObAbfa/\J

e [ will count your best 8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes.
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(1) (10 points) Find /Sin4w sin 3z dz.
BT = AasB-sin hsiab
05 (A-R) = oA @l +snAsnd
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(2) (10 points) Find /se-cs?x de. = j LXK . j.c(,?:x dx
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(3) (10 points) Find /
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(4) (10 points) Find / e

dz.
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(5) (10 points) Find / ze™ 2% dr.
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(6) (10 points) Find the degree three Taylor polynomial for f(z) = e!/* centered
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(7) Consider the series 1 + % - % + % .-+, Find an explicit formula for the partial
sum Sy. Hint: compare Sy with %S ~. Use your formula for Sy to show that
the series converges, and find the limit.
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(8) Does the series E e COTVETECHOE diverge? If it converges, find the
ek 2 3n+2

exact value.
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converge or diverge? Explain.
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(10) Does the series z
n=1
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